
MT/JIG

-24-

  	MT/JIG - SPARE PARTS LIST	 v3.0 01/2017

	 No.	 Qty.	 Desc.	 Ref.
	 1	 4	 F Clamp for MT/JIG with Screw	 WP-MT/01A
	 2	 1	 MT/JIG Set-up Bar (Imperial/Metric Scale) UK	 WP-MT/02/UK
		  1	 MT/JIG Set-up Bar (Metric Scale) EURO	 WP-MT/02/EURO
	 3	 1	 Label Trend MT/JIG	 WP-MT/03
	 4	 1	 Main Body	 WP-MT/04
	 5	 1	 Vertical Guide	 WP-MT/05
	 6	 1	 Inner Body	 WP-MT/06
	 7	 1	 Tilting Back Plate	 WP-MT/07
	 8	 1	 Top Plate	 WP-MT/08
	 9	 1	 Back Clamp Plate Packing Piece	 WP-MT/09
	 10	 3	 Pivot Bush 	 WP-MT/10
	 11	 1	 F Clamp Square Cap	 WP-MT/11
	 12	 1	 Back Clamp Plate	 WP-MT/12
	 13	 1	 Front Clamp Plate Packing Piece	 WP-MT/13
	 14	 1	 Front Clamp Plate	 WP-MT/14
	 15	 1	 Template Long	 WP-MT/15
	 16	 1	 Template Short	 WP-MT/16
	 17	 2	 Adjustable Lever M6 x 15mm	 CR/KB/PK8
	 18	 3	 Machine Screw Button M6 x 16mm Skt	 WP-SCW/75
	 19	 2	 Adjustable Lever M6 Female	 CR/KB/PK9
	 20	 2	 Nut Hex M6	 WP-NUT/06
	 21	 2	 Washer M6 Form C	 WP-WASH/12
	 22	 6	 Machine Screw Button M6 x 12mm Skt	 WP-SCW/73
	 22A	 4	 Machine Screw Button M6 x 20mm Flanged Socket	 WP-SCW/128
	 22B	 4	 Washer M6 Form C	 WP-WASH/12
	 23	 1	 Guide Bush Set Imperial 6 off UK	 WP-MT/23/UK
		  1	 Guide Bush Set Metric 6 off EURO	 WP-MT/23/EURO
	 24	 1	 Guide Bush 25.4mm (1”) Diameter UK	 GB254
	  	 1	 Guide Bush 30mm Diameter EURO	 GB30
	 25	 1	 Guide Bush Collar 25.4mm to 54mm UK	 GB/COLL/25454
		  1	 Guide Bush Collar 30mm to 54mm EURO	 GB/COLL/3054
	 26	 1	 T Handle Hex Key 4mm x 150mm	 HK/T/04
	 27	 4	 Self Tapping Screw Pan No.10 x 3/4” Pozi	 WP-SCW/108
	 28	 2	 Clamping Bar Shims	 WP-MT/28
	 29	 1	 Manual 	 MANU/MT
   DUST EXTRACTION KIT (OPTIONAL)

	 30	 1	 Dust Kit Complete	 MT/DUSTKIT
	 31	 1	 Dust Shield	 WP-MT/31
	 32	 1	 Dust Spout	 WP-SRT/16
	 33	 1	 Magnet Pack 10mm x 3mm (Pack of 4)	 MAG/PACK/2
	 34	 4	 Machine Screw Button Flange M6 x 12mm Skt	 WP-SCW/73
	 35	 4	 M6 Internal Shakeproof Washer	 WP-WASH/31
	 36	 4	 Nut Hex M6	 WP-NUT/06
	 37	 0	 Hose Adaptor 58mm to 39mm 	 CRT/3
	 38	 1	 Adaptor Body for CRT/3	 WP-CRT/97
	 39	 1	 Adaptor Fitting for CRT/3	 WP-CRT/98
	 40	 1	 Adaptor Clip for CRT/3 	 WP-CRT/99
	   CUTTER SETS (OPTIONAL)

	 41	 0	 Cutter Set Imperial 5pc UK	 SET/MT1
		  0	 Cutter Set Metric 5pc EURO	 SET/MT2

Please use only Trend original spare parts.



MT/JIG

-IB-

17

21

21

17
12

16
9

14

13
8

20
19

20
19

4
27

6

7

22

18

5

10

18

22

22
18

15

27

23

25

24

11

1

1

2

26

10

10

3

MT/JIG

29

22

28

28

L

5/8"
1/2"

3/8"
5/16"

1/4"

15.9mm

12.7mm

9.5mm

7.9mm

6.4mmTENON WIDTH

5/8" 1
5.9

1/2" 1
2.7

3/8" 9
.5

5/16" 7
.9

1/4" 6
.4

R
5/8" 1

5.9

1/2" 1
2.7

3/8" 9
.5

5/16" 7
.9

1/4" 6
.4

Align with tenon end

& positio
n templates

MORTISE & TENON JIG

SET-UP BAR

1.  S
et Timber H

eight

2.  S
et C

entre
 Line

3.  S
et Tenon Length

GB222

GB254

GB286

GB302

GB318

C026

C022

C015

C012

C008

TENON BUSH
MORTISE CUTTER

GUIDE BUSH & CUTTER SELECTION
NOTE

For te
non use cutter C

O26

For m
ortis

e use 2-1/8" c
ollar

WP-MT/02/UK

22�

22�

MT/JIG - SPARE PARTS DIAGRAM

36

31

33

36

37

34
3839

40

34

32

30

35
35

MT/DUSTKIT 

v3.0 01/2017


